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Note :-

All questions are to be answered.

Each question carries % mark.

Answers are to be written in the question paper only.

Marks will not be given for over-written, re-written or erased answers,
Write the CAPITAL LETTER for correct answer.

A

L * Write the CAPITAL LETTER of the correct answer in the 10x% =5
brackets provided against each question,

1. Symbol of Universal Quantifieris........ Lossncasd
A = (B) vy
C) 3 D) &

2- AﬂA': ............ [.oooooo]
(A) u (B) A
©€) ¢ (D) A’

3. Range ofa constant function iS ... |

(A) (B) ¢
(C) R (D) Singleton set
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4. If n(A) =3, n(B) =4,then n(AxB)=. .. . : Uil
(A) 12 |
(B) 24
) 7
(D) 4

5. The sum of a number and its reciprocal is %, then the number is .... [.......]

(A)
(B)
()
(D)

W N

6. -If flx) is divisible by (ax + b), then the remainder is ... Figuenrdd
@ ()
®) f (%)
© f(%“)
o f(2)

7. The value of an objective function F = %x +§ y at(0,9)is......... bssasss]

(A)
(B)
(©)
(D)

N 3 Ot

8. Intersectionof x> Oand y>0 is....... F——
(A) 1st quadrant (B)  2nd quadrant
(C) 3rd quadrant (D) 4th quadrant
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9' Lt ’5—x+—1= -------- [cll'...]

x5 3x+2
(A) g (B) %5
(C) % (D) g
10. x+%=4,‘then x—i= .......... [visens]
(A Js3 (B) %
(©) ? D) 23
II. Fill in the blanks with suitable answers. 10x% =5
11. Thegraph y =22 iscalled .......cccoermrrrrrecrrrnnn.
12. Theinverseof ~p=>qiS....ccccocurmimnrniviirirnennnns .
1L (A B S et
14. If flx) =x2, gx) =x>, then (@of)(-1) = ....coomvemvesurcirensivessens .
15. (20+1,8)=(3, % +2),then £ = oo
16, Expand T a2 (b—c) = meerrsercomsemsinsnsiins
17 PR quation OF BEBXIB 18 cve.cerslcsiersmmsmnsmoapmanssainemnns faxstssiropsdhs
18. (B&YH" =itk
19. Harmonic Megn of Y0 6118 ....coimviassaiveninias
20, In=255,thenn = ....ccoeomurssrersarsnssesesasessessence
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1. Forthe following questions under Group-A, choose the correct answer from the
master list Group-B and write the letter of the correct answer in the brackets

provided against each item, 10x% =5
(1) Group - A Group - B
21. f={1,2),@3), (3, 1)}, Lsvsssed (A) 0
then f42)= ...
‘ (B) 1
22. n(®)=......... Peressan} '
4 ©) 2
23. Mid term of (£+ZJ is [ 1
A v ) B @) 3
24. Counter example of "Al] the beesiuil] (E) 4

prime numbers are

odd numbers". (F) 5
25- s 3 = nC4, then n=..... [oootoou] (G) 6
H) 7
(i) Group - A Group - B
= I 8
26. Value of (i) % 8., Liviincd]
27
@ 9
27. If x=-3, then’x2—2OI= ....... | P | '
' (K) 10
28. nthterm of AP is (2n2 + m+8), Lsial
then 2nd termiis .......... (L) 11
29. The value of f= (2x + 3y) e ' M) 12
at(1,2)is..........
(N) 13
30. (x-2)isa factor of x°— 42 + s A |
thenvalueof Kis ... ) 14
P) 15
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